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K ni K i K ni % % %
i 865. 02 865. 04 865.04 | 100.00 | 100.00 | 100.00
B 29. 35 29. 26 29. 25 3.39 3.38 3.38
K 10. 19 10. 22 10. 20 1.18 1.18 1.18
5 i 6. 48 6. 50 6. 50 0.75 0.75 0.75
L] 1.37 1.37 1.37 0.16 0.16 0.16
W 767. 50 767. 52 767.54 | 88.73 | 88.73 | 88.73
W % 5. 04 5. 04 5. 04 0. 58 0. 58 0.58
R 17.12 17. 17 17. 17 1. 98 1. 99 1. 99
MBI 6. 24 6.17 6. 17 0. 72 0.71 0.71
Z Dt 21.73 21.79 21. 80 2.51 2. 52 2. 52
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(c)|cer|aa|c)|aa | mm | e U
165 7.5 34.4| 7/30 |-20.5| 1/26 [1 106 861| 111.0[ 2/5 2.1| 1 386.4
175 7.6| 32.2| U% |-18.9( 1/23| 9s8| 774 96.0 2/19 | 2.0 1 139.6
184 6.3| 33.5| 8/9 |-16.0| 2/10 |1 088 673| 64.0[ 3/13 | 2.1| 1 453.0
195 7.9 35.7|8/13 |-22.4| 2/25| 843 584| 74.0| 2/17| 2.0[ 1 526.0
205 7.5| 34.0[ 7/6 |-15.1| 1/26 | 922| 637 58.0| ¥} 1.9] 1 405.4
215 8.2 33.1|8/11|-17.2| 2/4 1 033 526 72.0[ 2/10 | 2.0] 1 339.3
22%F 7.3 34.3|6/28 |-18.0| 1/28 |1 247| 506| 63.0| 1/18 | 2.1| 1 519.5
235 7.9 33.5| 8/8 |-20.2| 1/28 |1 344| 604| 86.0| 2/16 | 2.1| 1 487.8
245 7.5| 33.8[8/21|-19.5| Y/ |1 293 690[ 103.0[ 3/10 | 2.1| 1 505.0
25% 7.4 32.8| 7/8 |-21.3| 2/8 |1 149| 617 100.0| ¢ 2.1| 1 499.5
26%F 8.0 35.7| 6/4 |-19.8| 2/4 | 995 499| 85.0[ 1/11 | 2.1| 1 736.1
27E 7.7| 31.4| 7/12 |-19.8| 1/25 [1 017 512 75.0[ 2/29 | 2.0| 1 553.0
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X 5 |5'F|s8|len|78|8m|om|108[118(128|%85| 28|35
= [FBE(C) 7.1 1 12.9 | 16.2 | 20.9 | 21.1 | 16.5 7.9 2.8 -1.7 | -6.5] 5.0 -0.4
X
==(C)| 26.4 | 28.9 | 27.8 | 31.4 | 31.2 | 27.2 | 21.3 | 17.2 7.9 3.2 5.9 14.6

N=]

T gEco| 4.8 1.8 5.2 8.0 9.5 6.0 [ 2.0 |-12.6 |-12.2 |-19.8 [-16.0 | —-17.1
BokigE (mmd) [ 52.0 | 52.5 | 92.0 |116.5 [138.0 [153.5 [133.5 | 68.5 [ 69.0 | 23.5 | 89.0 29.0
EEE (cm) 0 0 0 0 0 0 5.0 [ 33.0 [107.0 [150.0 | 174.0 43.0
=REE (cm) 0 0 0 0 0 0 4.0 | 26.0 | 46.0 [ 52.0 75.0 72.0
R (M) 2.6 2.6 2.4 1.9 1.7 2.1 2.2 1.7 1.7 1.6 1.8 2.1
BiResE (B (187.9 |217.0 [134.7 |170.0 [151.9 [133.5 |125.6 | 93.0 | 61.1 | 56.9 55.8 | 165.6
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